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1. XOHNZHS->T, TORHEZE X, (S0, AM30%, Bik4s#, C#k15)

I1x1 = 1 Vi = 1
2x2 = 4 ot Vi = 2

il Sv3 — o = (ZDFHEOME) = /o - 3
4x4 = 16 V16 = 4

1 V9 (2) V64

(3) V100 (4) /256

(5) V225 (6) V361

(7) /40000 (8) 625
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2. RIS T, ToOEMEZE L. (SHh25F, Afk40F,
1x1 =

4 x4 =

R
(1 V16
3 Vi
(5) V121

(1) v/2500

Bi#k14r, C#e14320% )

1 V1 = 1
=4 - EIW Sk \/122
_ = (ZOiEOWH) = /5 — 3
16 V16 4

(20 V81

(4) /144

(6) /289

(8) V1024
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1. RXoBIcZme->T, TOHEZE X, (S0, AK30W, Bik4s®, C#k14)

IO 2 W

I1x1 = 1 Vi = 1

2x2 = 4 e Vi = 2
il a3 — o = (ZOiHEOWHE) = /o - 3

4x4 = 16 V16 = 4
1 V9=3 (20 V64=8
(3) V100 =10 (4) /256 =16
(5)  V225=15 (6) 361=19
(7) /40000 = 200 (8) V625 =25
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2. ROHNZHRS->T, TOFMHEEZY XK. (SHh25#, Af40%, Bik14, OC#1320% )

* EARIE 2 FE (FH) DFEE
Ix1 = 1 V1 1
2x2 = 4 e e Vi = 2

il 2v3 — o = (ZOiEOWHE) = /5 = 3
4x4 = 16 V16 = 4

(1 Vie=4 (2)  V8l=

3) Vi=1 4)  V144=12

(56)  V121=11 6) V289 =17

(7) /2500 = 50 (8) V1024 =32
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